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Esempio 9.16

a=’’’cgttatttaa ggtgttacat agttctatgg aaatagggtc tatacctttc gccttacaat 60
gtaatttctt ttcacataaa taataaacaa tccgaggagg aatttttaat gacttacgaa 120
ttaccaaaat taccttatac ttatgatgct ttggagccga attttgataa agaaacaatg 180
gaaattcact atacaaagca ccacaatatt tatgtaacaa aactaaatga agcagtctca 240
ggacacgcag aacttgcaag taaacctggg gaagaattag ttgctaatct agatagcgtt 300
cctgaagaaa ttcgtggcgc agtacgtaac cacggtggtg gacatgctaa ccatacttta 360
ttctggtcta gtcttagccc aaatggtggt ggtgctccaa ctggtaactt aaaagcagca 420
atcgaaagcg aattcggcac atttgatgaa ttcaaagaaa aattcaatgc ggcagctgcg 480
gctcgttttg gttcaggatg ggcatggcta gtagtgaaca atggtaaact agaaattgtt 540
tccactgcta accaagattc tccacttagc gaaggtaaaa ctccagttct tggcttagat 600
gtttgggaac atgcttatta tcttaaattc caaaaccgtc gtcctgaata cattgacaca 660
ttttggaatg taattaactg ggatgaacga aataaacgct ttgacgcagc aaaataatta 720
tcgaaaggct cacttaggtg ggtcttttta tttcta’’’

u=re.compile(’(\s|\d)+’);
a=u.sub(’’,a)[108:717]
print (a)


